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= ¢ Structure ID="HospitalStatus" ref="" taxonomy="XML" ~
B¢y <HospitalStatus> 1l
¢y <Hospital>
¢ <Organization>
= <EmergencyDepartmentStatus>
1 <EMSTraffics
4 <EMSCapacity>
¢4 <EMSCensus>
1 <EMSAirTransportStatus>
o1 <EMSAmbulanceStatus>

" #

e )

[ MCW‘XML Schema ]I

L I ——

o1 ing¥-< /
<1 <HospitalBedCapacityStatus>
<51 <ServiceCoverageStatus>
<1 <HospitalfacilityStatus>

r <1 <HospitalResourcesStatus> v
—_— . -
—-— . -
‘r —-— . -y
‘ r———————————‘

I *, 1
II| CO)?S%“St : I xsd subset I *Constraint xsd '

Namespace |

- s o . oo == my =y

[ ) \
* Optional | [ *Extension xsd ]I
| |
|[ *Exchange xsd ]l

\ /

[Exchange xml ]
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